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27 ruled that on ned the pots should be broken

OVERVIEW

21 ruled that earthenware pots in which ynr was cooked/baked (even before rmod)
need to be broken and may not be used. The (walls of the) pots absorbed y»n and if
they will be used again, the pots will expel the absorbed ynm into the food.! The
pots cannot even be used after nod for 27 maintains that Y is MOKX even 11T NKR?
like 7770 1. Our mdoin discusses the issue of 2397 avw mu.2

= N927¥21 N9223Y %2) (owra,no 91 NIT NTIAY NIVNT NXINI P92

In the last 99 of "'y noon regarding the case of a mouse that fell into beer, where

11 ruled that the beer is 710X because the mouse gave a flavor into the beer -
= HAYN INAYN NIIPWA N2 95791 1IN 9ION DI9Y DYV M) 29 920P IN N*Y XPOON

X217 was unsure whether 37 maintains 235% ayw 01 is MoK, and that is why the
beer is MOX, or whether 27 maintains "1 is 2 and the reason the beer is 0K is

because the mouse improves the taste of the beer (so it is not a 5"v1) —

mooIn responds to the anticipated difficulty:
- 193V 959 X9D MNP 397 1959X 910 1Y K920 IN)

And even if 27 maintains that 5"5v1 is 902, nevertheless 27 can still rightfully

state here that the pots should be broken -
- “9)0N NYNNAY HaN YV TaPTa NPT DI9Y DYV YT
Because 2"%u1 is permitted only 72y°73, however initially it is forbidden to

insert even a MO X7 01D oYY into N1, The reason why it is 777N3% 70K -
= NI N2 IONX NI N NNV 1PI9NT

For we make a decree to forbid cooking with an 821> n3 %398 (which is 5"%01) on

! These earthenware pots cannot be ‘kashered’, for the 7N testifies that the absorption of a 071 22 can never be
completely expelled. See 3,1 (1%) X1p*) which reads 22w> 12 Y2120 WK wAn *991. See (‘o 'm3) on the 2 Ty,
2 Any absorbed ynr that the pots will expel (a day after it was absorbed [this is referred to as an 1 n2 1X]) will
give a bad taste (2130 oyv) into whatever it is expelled. There is a discussion whether 039% ayv Jm1 is MoK or IMA.
See *"w1 here 27 K 7"7.
* If we assume that 27 maintains 5901 is 0, why should the m77p be broken, let us use them (after nod) since it
will only expel a 015 oyv which is .
* Once a person (unwittingly) cooked with a pot (which is an ¥ 72 1K) that is 297 ovv 1 the food is nmn.
However one is forbidden to cook with a pot in which 0°k was absorbed even if it is a 5"?01. Therefore we cannot
(77nn3%) cook with these pots and so 172w oo N7p. See ‘Thinking it over’ # 1. However in the case of X123y
X12°w1 it was 7273, therefore if 5"01 is 1N the beer would be 7n» (assuming that an 125y is 5"7v1).
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account that we may then cook with a 8% n2 which is maw? ayu 1011 and makes the food
in the pot 710K.

Mmoo offers another distinction between the case of X72°w2 X725¥ and our X3
= 1P¥2 NNV 1D 1YL DNV *9) ®s9w onnT 1y

And additionally there by X12°w2a X120V it is permitted because the taste of the
X720y, as it is visible, inherently spoils the 715w -

15991 9172 "NNWY NN KN DN 1N XN YaN
However here by the y»n which is absorbed in the pots, it spoils the contents of

whatever we cook in the pot, only because it remained in the walls of the vessel,
but not because the y»ri is inherently ox19.

SUMMARY

27 can maintain 5"901 is M and nevertheless state that 172w° o952 M°7p, either
because 5"v71 is N only 72¥°72 however 77nnoY it is MOX (because we are IN3), or
only something which is 1°v2 2319 is 7017 but not if it is 229 because it was 77w.

THINKING IT OVER

1. mooIn states that the 207 of ©"%v1 is only 72¥°72, but not 7>nndY. Previously
mooin stated® that if we would be required to break the oven (since it was heated
with X317 "Mo°X) that would be considered 72¥°72. Why here (where we are
required to break to pots) is it not also considered 725722

2. What advantage is there in M0 first answer over the second answer?

3. According to Mo0In second answer, by 1°¥2 5"%u1, is it permitted to cook with
this o197 737 even 50352

> Moo may be unsatisfied with the first answer, since here by noo all the pots after 709 are 11 *32 WX, so why
should we be 7713 by 117 12 10X 11 12 11X, since it is highly unlikely to have a 11 72 of v after rmo».
% 29 may have permitted it if 030% oyv M1 is 9N and the 720v is a9 the 12w, In fact however 21 prohibited the 12w,
so if 217 maintains that 71 5"501 he nevertheless prohibited it because mawn "MIWR X13°W1 K123y,
" mpon differentiates between a ‘strong’ 5"901 where the ORI 727 on its own is ax the N7 (like the X12°wa X120Y)
in which case it is °nm; however if the T10X7 727 itself is not ax» (like ynrm), the 5"7v1 is only because it was
absorbed 77771 °193172 for a nY? N, it is MOK, for this is a ‘weak’ "501.
(%) Paa"nn .
? See ™17 5y 0w Wik " and *"po 7"wA Y 2"np 0 T KW .
1 See LMY 727.
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